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9. Integrate. (10 points each)
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MTH 261, Exam #2, Part Il, Spring 2019 Name

Instructions: You must show all work to receive full credit for the pr
calculator for this section of the exam and all answers without work
exact answers unless the problem begins with decimals or you are s

lems below. You may use a
ill receive minimal credit. Use
cifically asked to round.

ines that in order to sell x
refrigerators, the price per suit must be p = 280 — 0.4x. It @lso determines that the total cost
of producing x refrigerators is given by C(x) = 5000 + 0.6

a. Find the total revenue R(x). (5 points)
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b. Find the total profit P(x). (5 points)
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¢. How many refrigerators must the company produce and§ell in order to maximize profit? (6 points)
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d. What is the maximum profit? (5 points)
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e. What is the price per refrigerator that must be charged ifi order to maximize profit? (6 points)
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11. Suppose that the price p in dollars and number of sales x of @ certain item follow the equation
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d. When will an investment of $1000 double itself? (6 points)
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